Answers to 2.6 exercises
2.6 Exercise 1
1.
On descending the group


The number of shells, and hence the shielding increases


So the atom is more likely to lose its outer electrons


So reactivity increases

2.
a)
i)
Mg(s) + H2O(g) ( MgO(s) + H2(g)



ii)
Ca(s) + 2H2O(l) ( Ca(OH)2(s) + H2(g)



iii)
Ba(s) + 2H2O(l) ( Ba(OH)2(s) + H2(g)


b)
the reaction with calcium would be slower


and the solution would go cloudy

3.
a)
white precipitate: Ba2+(aq) + SO42-(aq) ( BaSO4(s)


b)
no reaction


c)
white precipitate: Mg2+(aq) + 2OH-(aq) ( Mg(OH)2(s)


d)
faint white precipitate: Ca2+(aq) + 2OH-(aq) ( Ca(OH)2(s)


e)
faint white precipitate: Ca2+(aq) + SO42-(aq) ( CaSO4(s)


f)
no reaction
